ISHIDA IP-Al

Scale Unit, 301b

Part Number/Price

REF # PART #

47019
Consult
47021
47022
Consult
47024
47026
41734
Consult
Consult
47029
Consult

198254

1
2

3

4

5

6

7

8

9

10

11

13

14 45144
15 47025
16 175008
17 41706
18 187668
19 47034
20 42857
21 Consult
— 42734
22 47036
23 47326
24 Consult
25 Consult
26 47007
27 42719
28 41739
29 189337
30 189338
31 Consult
32 Consult
33 Consult
100 171879
101 185058
102 186547
103 Consult
104 44220
999 91178
999 42733
999 42735
999 47032

DESCRIPTION

Case, scale, lower

Bracket, PWB

Threaded rod, hex, MF

Base, weight

Plate B, metal, IP-EMZ

Leg, adjusting

Metal fitting unit for level

PWB accessory, card spacer
Accessory, bush, cable

PWB accessory, card spacer

Case, scale, upper

Name plate, company name

Platter supporter

Seal, round, 21 mm dia

Platter

Supporter rubber

Cap, window

Cap

Lense

Specification plate

Push rivet

Rubber pad

Screw, M4x18 pan head cross lock zinc
Accessory, clamp, CKN clamp

GT cap screw

TP screw M4X8 chromate

Screw, cross truss, M4x8 button head SST
Hex bolt, bolt and washer assy, S2P2, M4x12 zinc
Cross hexagon bolt, M4x10 mm zinc
TP screw, M4x10 SST

Sheet, insulator

Cover, PWB

Cover, switch

PWB, A/D board P-1111A-2 / A-7
Harness, C2, weigh communication, approx. 3 ft
Harness, C2, weigh communication, approx. 7 ft
Filter, ferrite

Filter, ferrite core

Load cell assy, CLC-25L

Seal, rivet

Sealing

Seal, with wire

Step screw, M4x10 SST

See the IP-Ai Wiring Diagram on page 22 for harness details

ary

Al NN 2 m A alaaalndloaN WA AAAaAAadAlalalpalrA R A Aaan =2 NNARsR s .

SYNONYM

000-002-5005-01
100-000-9961-00
000-002-5011-04
000-002-5012-26
000-075-5801-14
000-001-4845-02
000-002-5052-07
000-000-1795-01
000-074-7145-05
000-043-1633-00
000-002-5006-05
100-000-5371-00
000-000-6131-07
001-6314-09

000-094-5009-02
000-002-5050-00
000-016-3545-07
000-002-5007-09
000-041-1971-13
000-000-4761-06
000-000-3926-00
000-003-2566-02
000-007-5412-01
000-000-0448-05
000-000-0440-06
000-000-0238-00
000-002-1790-08
000-000-0338-09
000-002-1938-01
000-049-6202-19
000-096-9535-13
000-096-9533-16
100-003-3404-00
100-001-2010-01
100-008-7228-00
000-044-2730-09
000-093-5220-14
000-000-7729-07
000-040-9585-01
000-044-6797-02
000-022-3922-08
000-020-3677-01

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

PRICE

Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult
Consult

RICE LAKE

WEIGHING SYSTEMS

3
o
©
2
=
2




Ishida IP-Al

Scale Unit, 301b

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices. RlcE L AKE °
WEIGHING SYSTEMS




